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Q9.The current through the 4Q resistor of the following circuit is:
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10.In a conductor if the cross-sectional area 4 cm?, the electron density3x102cm ;
speed 2x10~m/s, then the current density, J, becomes: v e and the dnf
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Q11. A wire shows resistance of 10Q at 20°C and 30Q at 100°C.The temperature coefficient of

resistivity of the wire will be:
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@2,5x10-2°c-1 B)4.3°C!  (C)1.65x10°C' D)3.78°C'  E)5.00°C’

Q12. An electric heater is operated with a potential difference of 110V to a Tungsten wire that

has a resistance of 10Q. The power of the heateris:
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A) 8.00kW '~ B)3.25kW C) 5.78kW D)2.45kW  (E)1.21kW

13. The ammete rshown in ‘the circuit reads 2 A. The values of I}, I, and ¢.
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Q6- What is the equivalent resistance of the resistors, in the circuit, between g and b if
each resistance 1s 1 7?7

A)1.08 [ LB{0.73 C)7 D) 0.143
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Q9 At equ1hbnum the current passing through the resistor of 4Q equals:

A)25 D) 0.3
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The equivalent resistance between a and b in the circuit equals:

D)0.14 R
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Q17- At equilibrium the electric current passing through R =3 Q equals:
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Q6- Three identical resistors, each of3R resistance, are combined to produce equivalent
resistance of 2 R. Which of the following circuits does show the way of their
combination?

A) it B)% | J_C)m D) wwwww



—

. | . . 8 Q Lyl o Ol jsau g,
Q9- What is the current passing through the resistor of 8 Q?
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Q19- For two identical resistors the parallel combination is 5 €2, so the resistance of each is:

A)1.25 B) 2.5 C) 5 CDy10 )
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Q20- At equilibrium the electric current passing through R = 10 Q equals:

70 207V 30 2Q
I == 3 mF
1mF T °™
A — |
or= 60 §SQ 1o =150
— MWW
10 0

A)12 B) 0.8 @ D) 0




A) pos1uve ( B)negauve ) C) zero D) changing
N b R =10 Q4o iall 5l jlallsad 100
Q10- The electric current passing through R = 10 Q equals:
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0 What is the equivalent resistance between a and b in the circuit? ’ 2
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Q10- At the equilibrium, the current I equals: T I 100
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A) 0.0167 B) 0.025 C) 0.01 D) 0.0125
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Q21- The electric current passing through R = 6 Q equals:
6 Q2
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A) 0.357 B) 0.143 < C) 3.57 7 D) 1.43




